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1 |dtiE
2 |EHE
3 |AFE
4 |EHE
5 (AR
6 IR
7 |fRBE 5.5E+0 55 55
8 |ZWE 2.6E+1 26.2 22E+2| 6.5E+3 6,722.7 6,748.9
9 |HAE 3.0E+1| 1.8E+3 1,780.0 1,780.0
10 [HER 3.7E+2 370.0 9.6E+3| 9.8E+4 107,302.3 107,672.3
REEET! 2.6E+1| 1.3E+4 12,732.4 12,732.4
12 |FER 7.7E+0 1.7 5.0E+4 50,296.0 50,303.7
13 |HREER 4.4E+1 440 440
14 |[#E)E 1.6E+1| 1.9E+4 19,115.8 19,115.8
15 |FriRE
16 |[EWE 8.7E+2 870.0 870.0
17 |RINE 8.3E+1 82.5 825
18 |f&@HE 6.4E+0| 8.1E+1 87.4 87.4
19 |ILBE
20 |RHE
21 (KBE
22 |E&mER 3.0E-1 0.3 5.4E+1 54.0 54.3
23 |BHE 3.8E+0| 8.7E+1 91.0 7.8E+3| 9.5E+3 17,309.4 17,400.4
24 |=ZER 5.3E+0 5.3 2.0E+2 201.3 206.6
25 |#HER 3.2E+1| 2.0E+2 230.3 230.3
26 |FARRT
27 | KBRAF 1.0E+0 1.0 1.0E+3| 4.4E+3 54048 5,405.8
28 |EER 9.0E-1 0.9 26E+1| 1.4E+3 1,408.4 1,409.3
29 |ERR 2.0E+0 2.0 2.0
30 |FNFLE 8.0E+1 80.0 5.1E+1 51.0 131.0
31 |BHRE
32 |BRE 6.4E+0| 1.2E+2 126.4 126.4
33 |FWE
34 |[LER 3.2E+3 3,200.0 3,200.0
35 |ILOg 1.2E+4 12,000.0 6.8E+3 6,800.0 18,800.0
36 |EER
37 |BNR
38 |BER 2.5E+3 2,500.0 2,500.0
39 |EER
40 |fEREE 1.5E+2| 6.6E+2 805.2 805.2
41 [EBR 2.3E+1 23.0 80E-1| 15E+2 154.0 177.0
2 |RIBER
43 |RERR
44 | KHR
45 |FIFER 1.7E+3 1,700.0 1,700.0
46 |EEER
47 |[HiER
£ H 2.8E+1| 1.8E+4 18,457.9 1.9E+4| 2.1E+5 233,132.9 251,590.8
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